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BUSINESS ECONOMICS

1

Paper : 401
Full Marks : 80

Time : 3 .hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
SO 2PIAR] Tag fian -
(@) What is business economics?

T @S 2

(b) Define demand.
wifRwr et finan |
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(2)

(c) What is marginal cost of production?

Sesme aifde w2

(d) Define GDP at factor cost.

Tl IS (GDP) Yo 9911 Beom e fia |

(e) What do you mean by dumping?
PR Jfeice & o 2

() What do you mean by marginal physical
productivity of a factor?

<51 Bome 2 il Seenfre e o B
=2 ‘

(g9 What is shut-down point of a firm?

W‘aﬁém%mmwwﬂqﬁs?

(h) What is selling cost?

RFR
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(3)
(i) Draw a total fixed cost curve.
o 35 47 T @l o
() What is demand forecasting?
QEGE VISR
2. Answer in brief (within 30 words each) : 2x5=10

vts Taw fi (it 30 61 R foeTo)

(a) What is prodﬁctibn possibility dxrve?

TRATA FERA Y WA R 2,

(b) State the determinants of demand.

IR AR e 9 |

(c) What is excess capacity of a firm?
J AP SfRRe wel 2

(d) What is production function?

T o 32
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(4)

(e) Give two differences between normal
profit and supernormal proﬁt

mmwmﬁmwﬁ
of1efT e 4T |

3. Answer any four of the following : 5x4=20

oo R e ikeR Tes R -

(a) Discuss the scope of business
- economics. -

T YRR AR ST 397 |

(b) Analyze the basic problems of an
economy.

eRIfST (e TrIPHR Ressd 3 |

() Discuss the main features of
monopolistic competition.

wﬁwzﬁmﬁmﬁﬁwwﬂhﬁm{q

SISl 41 |
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(5)

(d) Explain the cost-output relation in short
run.

e

MW-WWWW|

fe) Analyze the different profit policies
followed by public enterprises. :

SR 2fbe etz w1 RSw R R R
ol

4. What is elasticity of demand? Discuss
different methods of measurement of
elasticity of dema.nd 2+8=10

SRR R 7 v Rfegre &R
FRfSTR ST 1 | ,

o,r/m'

What do you mean by natlonal income? How
is it computed? SO T 3+7=10

Wwﬁlﬁm?mmﬁﬁwm?

5. Explain the laws of returns to scale. 10
3w aforma Rtz Tmm =01
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(6)

Or./ &aT
Discuss the modern approach of cost. 10
T YT LRI SCsAT 397 |

6. What is perfect competition? Discuss price
and output determination process under
different market periods in perfectly
competitive market. 2+8=10

o efecafrenr 81 & 2 3 afeifieners wams

Rita TemTrEe -9 TN -RERT 2ifmr seem

11 :
or / 5t

What are the characteristics of oligopoly?
Determine price and output under oligopoly
with the help of kinked demand curve model.

4+6=10
. N .

T Roron e WREPRR B R ol s
@1 w9 S T TR IR 1w SqE)
Gk il

7. Explain the dynamic theory of profit. - 10

TR SAfSNTOR GBI 747 |
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(7)

Or / ==[1

Profit is the reward for taking risk and
bearing uncertainty. Explain. 10

AR X' THT SF SIS I IFR | ;00 7

* % Kk
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